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Question 1

Question Type: MultipleChoice

Which of the following statements are true about sparse images in the context of virtual machine storage? (Choose two.)

Options:

A- Sparse images are automatically shrunk when files within the image are deleted.
B- Sparse images may consume an amount of space different from their nominal size.
C- Sparse images can only be used in conjunction with paravirtualization.

D- Sparse images allocate backend storage at the first usage of a block.

E- Sparse images are automatically resized when their maximum capacity is about to be exceeded.

Answer:

B,D

Question 2

Question Type: MultipleChoice




Which of the following kinds of data can cloud-init process directly from user-data? (Choose three.)

Options:

A- Shell scripts to execute

B- Lists of URLs to import

C- ISO images to boot from

D- cloud-config declarations in YAML

E- Base64-encoded binary files to execute

Answer:

A B, D

Question 3

Question Type: MultipleChoice

What does laaS stand for?



Options:

A- Information as a Service
B- Intelligence as a Service
C- Integration as a Service
D- Instances as a Service

E- Infrastructure as a Service

Answer:

E

Question 4

Question Type: MultipleChoice

Which of the following statements are true regarding resource management for full virtualization? (Choose two.)

Options:




A- The hygervisor may provide fine-grained limits to internal elements of the guest operating system such as the number of processes.
B- The hypervisor provides each virtual machine with hardware of a defined capacity that limits the resources of the virtual machine.

C- Full virtualization cannot pose any limits to virtual machines and always assigns the host system's resources in a first-come-first-serve
manner.

D- All processes created within the virtual machines are transparently and equally scheduled in the host system for CPU and 1/0O usage.

E- It is up to the virtual machine to use its assigned hardware resources and create, for example, an arbitrary amount of network sockets.

Answer:

B, E

Question 5

Question Type: MultipleChoice

Which of the following values are valid in the type attribute of a element in a libvirt domain definition? (Choose two.)

Options:
A- proc




B- namespace
C- kvm
D- cgroup

E- Ixc

Answer:

C E
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